
1288 1289

M
inature Conveyors M

in
at

ur
e 

Co
nv

ey
or

s

Check out misumiusa.com for the most current pricing and lead time.There’s more on the web: misumiusa.com

Guide Rail Brackets
Standard Type / Offset Type

�Conveyor Guide Rail Brackets – 
Offset Type

Conveyor Round Rod Guide Rail 
Brackets – Standard Type

Material: 304 Stainless Steel

Material: 304 Stainless Steel

Part Number

CGV70

Part Number

CGW80

Part Number WType No.
CGV

(W = 50)
70 5080

CGVL
(W = 100)

70 10080

Part Number WType No.
CGW

(W = 50)
70 5080

CGWL
(W = 100)

70 10080

CGV (W=50)  CGVL (W=100)
No.70

1.512

13
23.5
25 W

W+25

30
43

Ø8

12

12

8
62

Hex Socket Set Screw
M4x5 (Flat Head)

Hex Socket Head Cap Screw

Spring Washer
2-M5x12

Hex Nut
2-M5

2-M5

Hex Socket Head
Cap Screw

M4x15
Round Rod Work Guide 

for Conveyor
CGR 

70

4

Ø12

Hex Socket Head 
Cap Screw 2-M6x12
Spring Washer 2-M6

Hex Nut
2-M6

Hex Socket Set Screw
M4x5

8072
8

15

Ø8

32

4

1.512

47

Hex Socket Head
Cap Screw
M4x15

Ø12

12

25 W
W+25

23.5
13

No.80

1.225
1.5

3

37

13
23.5
25 W

W+25

Ø8

12

12

8
62

Hex Socket Set Screw
M4x5 (Flat Head)

Hex Socket Head Cap Screw

Spring Washer
2-M5x8

Hex Nut
2-M5

2-M5

Hex Socket Head Cap Screw
2-M5x12
Spring Washer
2-M5

Hex Socket Head
Cap Screw

M4x15
Round Rod Work Guide 

for Conveyors
CGR 

4

Ø12

30

43

70

Hex Socket Head 
Cap Screw
M4x15

Hex Socket Head Cap Screw 
2-M6x12
Spring Washer 2-M6

Hex Nut
2-M6

Ø8

Hex Socket Head Cap Screw 
2 - M6x8
Spring Washer 2-M6

Hex Socket Set Screw
M4x5

3

1230
42 1.5

72
8

15

4

25 W
W+25

23.5
13 32

47

80

12

No.80
CGW (W=50)  CGWL (W=100)
No.70

Part Number - No. - (CL)

CGW
CGVL

-
-

70
80

-
-

CL
CL

Alterations Code Spec

Change to Product with Clamp Lever

29 32
.5

30

CL
Hex socket set screws are 
replaced with the clamp 
lever (Orange, CLDMC4-8-M 
equivalent).

Guide Rail Brackets
Engineering Plastic

For Conveyors –  
Engineering Plastic Guide Rail 
Brackets – Offset Type

For Conveyors –  
Engineering Plastic Guide Rail 
Brackets – Standard Type 

Part Number

CGX55

Part Number

CGY70

1.510

4

19
W6

W+6

22

30

19

6Ø6

40
1025

10

7
48

25

19

6

25

Hex Socket Set Screw

M3x5 (Flat Head)

Hex Socket Head
Cap Screw

M3x10

Hex Socket 
Head Cap ScrewConveyors

Spring Washer

Spring Washer

2-M3x10Hex Nut
2-M3

2-M3

Hex Socket 
Head Cap Screw

M3x8

M3
Engineering Plastic Rail

N LA 

Engineering 
Plastic Rail

Engineering Plastic Rail

55

3

type NLA

type NLA

1.512

4

19
W6

W+6

30
43

Ø8

40
1625

12

8
62

Hex Socket Set Screw
M4x5 (Flat Head)

Hex Socket Head Cap Screw

Spring Washer

Spring Washer

2-M5x12

Hex Nut
2-M5

2-M5

Hex Socket Head Cap Screw
M4x12

M4
Engineering Plastic Rail
N L  A 

70

4

1.512

4

19
W6

W+6

32
47

Ø8

40
1625

15

8
72

Hex Socket Set Screw

M4x5 (Flat Head)

Hex Socket Head 
Cap ScrewConveyors

Spring Washer

Spring Washer

Hex Nut

Hex Socket Head Cap Screw

M4x12

M4
Engineering Plastic Rail
N LA 

80

4

2-M6x12

2-M6
2-M6

No.55 No.70

No.80

CGX (W=50, 60)  CGXL (W=100)

Part Number WType No.

CGX
(W = 50, 60)

55 50
70 6080

CGXL
(W = 100)

55
10070

80

 Engineering plastic rail is not included.

Material: 304 Stainless Steel

 Engineering plastic rail is not included.

Material: 304 Stainless Steel

3

2

4

19
W6

W+6

22
16

30

19

6

6

Ø6

40
1025

10

7
48

25

19

25

Hex Socket 
Set Screw

M3x5 (Flat Head)

Hex Socket Head Cap Screw

M3x10

Hex Socket Head Cap Screw

Conveyors

Spring Washer
M3x8

Hex Nut
2-M6

M3

Hex Socket 
Head Cap Screw

Spring Washer
2-M3x6

2-M3
Hex Socket Head Cap Screw

Spring Washer
2-M6x10

2-M6

Engineering Plastic Rail
N LA 

Engineering 
Plastic Rail
type   NLA

Engineering 
Plastic Rail
type   NLA

55

1020

1.530

3

1.537

1225

4

19
W6

W+6

30
43

Ø8

40
1625

12

8
62

Hex Socket Set Screw
M4x5 (Flat Head)

Hex Socket Head Cap Screw

Spring Washer

Spring Washer

2-M5x12

Hex Nut
2-M5

2-M5

Hex Socket Head Cap Screw

Spring Washer
2-M5x8

2-M5

Hex Socket Head 
Cap Screw
M4x12

M4
Engineering Plastic Rail
N LA 

70

4

3

1.542

1230

4

19
W6

W+6

Ø8

40

1625

15

8
72

Hex Socket Set Screw
M4x5 (Flat Head)

Hex Socket Head Cap Screw

Spring Washer

Spring Washer

2-M6x12

2-M6

Hex Socket Head
Cap Screw

Spring Washer

2-M6x8

2-M6

Hex Socket Head Cap Screw

M4x12

M4
Engineering Plastic Rail
N L  A 

4

Conveyor

Hex Nut
2-M6 32

47

80

No.55 No.70

No.80

CGY (W=50, 60)  CGYL (W=100)

Part Number WType No.

CGY
(W = 50, 60)

55 50
70 6080

CGYL
(W = 100)

55
10070

80


